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Math 122 - Test 1

Question 1:
(a) Determine sin (sin™*(3/4)) = E
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(b)  Determine arccos (cos (77 /4))
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(c) Let f (x) = xtan™(x )— = In 1+ x?). Evaluate /(1
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Question 2:

(a) Find all values of x at which the tangents to f(x) = sinh®(x) have the same slope as the tangents to
g(x) = cosh (x) .
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(b) Evaluate the following limit:  lim tanh (—1—) :
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Question 3: Find the following limits if they exist:
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Question 4: Find the following limits if they exist:
(a) lim x*) A o
x—0+
'(7(2) - Z,Qv\(w‘)} ,,eow av\ex{ﬂov\w/f‘ L
X = e |
/ )
e e \t SN _— el
+ XS (w) ~ @ +(=c0)
. , (x")
— Anlx) v, S lum X
v ) )
x>t T -
,7(3
)1!
Ay 2 H
— (/(/\«w - X — O
- + —_— ~
X o 2
. 1 1
(b) xll>n3+ <;—sin (x)) ~ 6o — oo
- (A./V\« §{V\(><)-)C ’(o o
X-—)()’f’ - A
x Sim(x) o
58 . " Y
e coS(x) —| e D
— + ————— ~
x7e st CR) 4+ % Col0x) ©
\ : . —0
s Len — Sin(x) }
— x0T

coS(xy+ X (’5'1V‘~{x)) T cos(x) }’ 2 2

[5]

p. 5of 7

Sep 23 2015

(5]




" Math 122 - Test 1 Sep 23 2015

Question 4: Find the following limits if they exist:

(a) Determine f(x) if
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(b) A raindrop falls with acceleration a(t) = 9 — 0.9t m/s. If t = 0 corresponds to the time at which it
forms 500 m above the ground, determine how far the raindrop falls during the first 10 seconds.
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